129 —%Y b TOEH

fietiR | BMA4FELSRH 26 H

amEeE)a: IRBEHEEEYMIEE
T4 FE 4L BR
B R

FHNAFAADIKETOHREGIERIE. FM2FZ2 100 &L T 1015 &Y, AIAL
T0.6%NDEF. FIFAALT2.3%DEFER DTz,

FHEMZER<HBEEHET 101.4 &Y, BIALLTO0. 6D LA, BIFRAALET 2.1
%D EFREEDT,

SHEBMARUIRNF-ZR<HBEERL 9.8 &2V, AIALLT 0.5% D LA, @l
FRAALLTO0.6%DEFERDTZ,

1 HEEVMBEROHER

PP EHERER]S AHERRUFIRILF—
o3 TH 7AY =¥ Y =¥

_— wakEs 29100 ERGEBIEE 00
103 103 103

102

101

98 R2 R3 e R4 L R2 R} e R4 98 | eeeeeees R2 R3  ——e—R4
97 97 97 —
123 456 7 8 91011 12 12 3 45 6 7 8 9 101112 1 2 3 45 6 7 8 9 1011 12
A A A
=1 HEHEHR. ALK URFERAL
SH3E SHAE
48 58 68 18 88 98 108 | 118 | 128 18 28 38 45
Eizt5 99,2 99,51 99,7 99,7 99 .71100,0/ 100.1:100,2:100,1[100.2:100.8: 101.0: 101.5
et mAk (%) | -0.8] 0.2i 0.3 0.0 -0.1 0.3 0.1 0.11 =0.2] 0.2, 0.5 0.2 0.6
BIERAK(%) | -0.9f -0.5; -0.2{ -0.7{ -0.5{ 0.00 0.3/ 0.8 0.7 0.3; 0.9 1.0f 2.3
I | EHERER< (1ei 99.31 99.61 99.7: 99.8! 99.7. 99.9/100.1:100.3,100.1]100.1{100.5: 100.8{ 101.4
B |fate giAk (%) | -0.8] 0.3 0.1 0.11 -0.1 0.3 0.21 0.21 -0.2 0 0.4 0.3 0.6
i sEEB (%) | -0.8] -0.4; -0.2{ -0.5{ -0.2f 0.1 0.3/ 0.8 0.6/ 0.1 0.6 0.7 2.1
spaspoT 1BH 99.2: 99.4; 99.4; 99.4: 99,3{ 99,5 99,5/ 99,5/ 99.3] 99.1; 99.2: 99,3 99.8
FF—=R< BB (W | -1.1 0.1 0.0{ 0.0 -0.1 0.2 0.00 0.00 -0.2] -0.1 0.1 0.1 0.5
WalEs  |meEAtoe | -0.9] -0.7, -0.6, -0.9. -0.5/ -0.4 -0.5 -0.3] -0.7| -1.3| -1.1 -1.0, 0.6
Ei=td 99.11 99.4; 99.5{ 99.7: 99.7:100.1; 99.9:100.1{100.1]100.3:100.7: 101.1:101.5
O [ GLACS
E i) (%) (%) -0.91 0.21 0.21 0.2i -0.1 0.3 -0.1 0.3/ 0.1 0.1 0.5. 0.4 0.4
sEEB (%) | -1.11 -0.8{ -0.5{ -0.3! -0.4{ 0.2{ 0.1 0.6/ 0.8 0.5/ 0.9 1.20 2.5

X ZERABEROBABALICDOVWTIX., EHAREELTVS,
) IR RURIERALICDOVWTIE, HHLEFOEHREZAVWTEHEL TV, ARINZIERESE
AWTEHEULREEFE—BULRWVWEENRH S,



